
0
.00

±

h
=

3
10

D
1

O
4

O
3

O
3

O
3

120
270

2
00

6
0

(2
2

0)

D
2

D
3

D
4

Z
e

sta
w

ienie
 p

om
ie

szczeń

D
5

0
.00

±

A
A

P
R

Z
E

K
R

Ó
J A

-A

Ogród zimowy

D
6

O
1 350

270

3
10

2
70

O
2 O
5

2
00

1
50

90+30
210+60

O
6120

150
(85)

O
6

S
tyro

pa
pa

                                              25 cm
strop

 T
E

R
IV

A
2

4
 cm

 
folia

 p
aroszcze

ln
a       

0
,2

m
m

p
łyta

 g
ip

s.-karto
n. G

K
F

 
1

2
,5

 m
m

D
1

P
1

D
1

tyn
k cien

ko
po

w
łokow

y
styro

pian 
1

4 cm
G

a
zo

b
e

ton 36,5
3

8,0 cm
g

ła
d

ź g
ipsow

a

P
1

S
1

p
osad

zka (w
g ze

st. po
m

ieszczeń)
w

a
rstw

a
 w

yrów
n. zbroj. siatką

6
 cm

styro
pian

1
0 cm

folia
 P

C
V

0
,2

 m
m

b
eton

 B
20 zb

ro
jony

1
0 cm

sta
lo

w
ą

 fi 4
,5

 w
 rozstaw

ie 20x20 cm
 

p
od

sypka żw
irow

a za
gę

szczona
1

5
cm

S
1

T
em

a
t: S

a
la w

ie
lofu

n
kcyjn

a
 +

 ro
zb

udow
a o ogród zim

ow
y

u
l. G

łó
w

n
a

 1
5

9
, 5

8
-3

1
2 S

tare B
ogaczow

ice

d
z. n

r 7
6

3
 o

b
r.S

ta
re

 B
ogaczow

ice

sufit
p

od
w

ie
szony

2
00

6
0

(2
2

0)

2
00

6
0

(2
2

0)

1
60

2
70

120
150
(85)

D
1

S
1

4
27

2
70

O
7

4
27

2
70

O
7

O
2310

270

O
7 427

270


